
SAP ABAP table V_TVSTZ_STORLOC {Generated Table for View V_TVSTZ_STORLOC}

V_TVSTZ_STORLOC

MANDT [CLNT (3)]

VSBED [CHAR (2)]

LADGR [CHAR (4)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

VSTEL [CHAR (4)]

VSTE1 [CHAR (4)]

VSTE2 [CHAR (4)]

VSTE3 [CHAR (4)]

VSTE4 [CHAR (4)]

VSTE5 [CHAR (4)]

VSTE6 [CHAR (4)]

VSTE7 [CHAR (4)]

VSTE8 [CHAR (4)]

VSTE9 [CHAR (4)]

VSTE10 [CHAR (4)]

VSTE11 [CHAR (4)]

T000

MANDT [CLNT (3)]

 V_TVSTZ_STORLOC-MANDT = T000-MANDT 
0..N

0..N

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 V_TVSTZ_STORLOC-LGORT = T001L-LGORT 
0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 V_TVSTZ_STORLOC-WERKS = T001W-WERKS 
0..N

0..N

TLGR

MANDT [CLNT (3)]

LADGR [CHAR (4)]

 V_TVSTZ_STORLOC-LADGR = TLGR-LADGR 

0..N

0..N
TVSB

MANDT [CLNT (3)]

VSBED [CHAR (2)]

 V_TVSTZ_STORLOC-VSBED = TVSB-VSBED 

0..N

0..N

TVSWZ

MANDT [CLNT (3)]

WERKS [CHAR (4)]

VSTEL [CHAR (4)]

 V_TVSTZ_STORLOC-VSTE1 = TVSWZ-VSTEL 

0..N

0..N
 V_TVSTZ_STORLOC-VSTE10 = TVSWZ-VSTEL 

0..N

0..N
 V_TVSTZ_STORLOC-VSTE11 = TVSWZ-VSTEL 

0..N

0..N  V_TVSTZ_STORLOC-VSTE2 = TVSWZ-VSTEL 

0..N

0..N

 V_TVSTZ_STORLOC-VSTE3 = TVSWZ-VSTEL 

0..N

0..N

 V_TVSTZ_STORLOC-VSTE4 = TVSWZ-VSTEL 

0..N

0..N

 V_TVSTZ_STORLOC-VSTE5 = TVSWZ-VSTEL 
0..N

0..N

 V_TVSTZ_STORLOC-VSTE6 = TVSWZ-VSTEL 0..N
0..N

 V_TVSTZ_STORLOC-VSTE7 = TVSWZ-VSTEL 

0..N

0..N

 V_TVSTZ_STORLOC-VSTE8 = TVSWZ-VSTEL 

0..N

0..N

 V_TVSTZ_STORLOC-VSTE9 = TVSWZ-VSTEL 

0..N

0..N

 V_TVSTZ_STORLOC-VSTEL = TVSWZ-VSTEL 

0..N

0..N


